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301 22N = 101,200 1,200 100,000
11 AALREIXIES 1,200 1,200 0
OZAHZELEHD TR 2
300,000& 42 1,200
14 IIEt2d3 100,000 0 100,000
O E DI EIESEPE
100,000,000 100,000
KIHTHEAALS (2 ZALY) 265,534 478,049 N212,515
= 265,534
201 Ler23| 6,000 31,346 N25,346
= 6,000
01 AtR2telbl 6,000 29,898 A23,898
ONEMEA JIES 2=t
6,000,000 6,000
= 6,000
308 AHXIHMSO0IA 259,534 445,583 186,049
= 250,534
11 S| 2SS &HASAIE 259,534 445,583 186,049
OXAETHEZA FEH] 259,534,000 259,534
= 259,534
NEII=E NMAEZ=SI I EHEAY 70,220 51,150 19,070
= 18,480
Ea 51,740
201 er23| 68,060 49,270 18,790
=S 18,480
s 49,580
01 AtS2t2ltl 62,400 46,340 16,060
OXNHIIEE NMASXAHEZHEANY S2
OH Al 8,000 x2& 50! 800
OXNZII=E NAHEE=AHHE S|
61,600,000 61,600
= 18,480
o 43,120
02 S3=gHl 5,660 2,930 2,730
OXHIIEE NMASXAHXEHEAMNY ST
fER=S 2,530& *2,0004 5,060
OXNZEIIEE NAHASXHEEHEAY =&
RER= 4002 *1,5004 600
202 04l 2,160 1,880 280
01 =LHAHI 2,160 1,880 280
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